B E ASP0146

FIRIE : 2025/04/18

B iin

N AR

Sy 7 ) B

=,  HBP-103ST

fhfde  AwA—2n27 77k

AL H i
1. X 7E 1/1 2.1
2. W= ELRRE 1/1 2.2
3. WUTHE 1/1 2.2
4. i 1/1 2.0
5.
6.
7.
H— b Rt H—IT
B R 543-025
eV Glh =2 — I fi
[BP-103ST 450066590 BeFH A
Wi [1997.11.13
) 2003. 02. 19

3
4
)




B S FIRIE : 2025/04/18
ASP0146 *% 524

Xy T ) BT B B
HBP-103ST 543-025-% > 7 ¥-1/1 fiEx - 2.1

BRES 543-025
HqRE Ny TU-—BNEEE
mt HBP-103ST
70vo% SOW
KREK 2.1




RS

o %K |:|]:'|:] U P ]\ EIRI A : 2025/04/18
Ny T U E R
HBP-103ST 543-025-% > 7 fi-1/1 JiE 2.1
L | #dh = — R [ A R/ E Ofl %R - S <5
T-1 450083510 |Z > 7 & v v 7 1
T-2 800031990 |7 & /% & 1
-3 450090870 [FEFRER—= 1
T-4 703042620 [IREEEATFF A NR T M6%10 1
T-5 300080810 [ifghli 7 4 /v & 1
T-6 100007010 [FEHRZ v 7 1 06. 1091 1E
T-6-1 | 450109450 PEIRZ 7 Z)VARN L 1 06. 105
-7 450060260 KT /LAR X FfF 2
T-8 800030610 [AA= L %y F 2 16.0%10. 0%2. 0 2
T-9 824004040 [FEHI7 V—} H-2 4. 5%1B*65 1
T-10 | 400670410 [k 4B 1
T-11 | 800006020 [t™=—=Wn" 9%/ 18.0%13.5%1.5 1
T-12 | 400106810 [W AFpAIA 1
T-13 | 700042610 [HFIffF /s M6%8 2 06. 1077 1k
T-14 | 400661710 |/ R/L7R/L4 1 03. 0211k
T-14-1 | 400851010 |V F—F2 VU v 7 1 06. 1071 11
T-15 | 400663510 [W/kK=/LARF v kb MO 2
T-16 | 792042080 |7 vk h7 57 RS-8001 2
T-17 | 825005150 [Ax/KiBHAL =—Wk-2 5x8%270 1
T-18 | 884057910 |/Xw» 7 U  NPH2-12FR 1
T-19 | 400670710 pxv 7V axs & —K 1
T-20 400697810 X7 U I N—B 1
T-21 | 450085940 |RK> 7 _—2R  [hIEAR L Ut 1
T-22 | 400663410 [K> 7HEER/L K~ M6 1
T-23 | 792042100 |7 vk hZ 57 RS-8004 4
T-24 | 711042610 [V Y3 M6*8 1
T-25 | 824004030 [We/KiBHH7 V—F H-A 4. 5%1B*130 1
T-26 400433920 [mv 7 F v b G1/4 1
T-27 | 400698010 |[R > 7z 1
T-28 | 400695410 |dK—AHA /33 1
T-29 | 824004020 [H:HHZEBI7 V—-F k-2 4. 5%1B*%230 1
T-30 400133230 [WAFT X 1
T-31 | 450065290 [N 7 U —X (ax7 Zf) 1
T-32 | 450060890 [HAF 7 ff 1
T-33 | 400893110 [/ A/LARLA 1 06. 1052




(egaitiasy . FIRIE : 2025/04/18
ASP0146 i ﬁ

N T ) B S E T

HBP-103ST 543-025-hn" - « BlARER-1/1 hiR# e 2.2

BERES 543-025
fed Ny T)—EEERE

il HBP-103ST
7Oy o@|  Hh/s— - BB
hRZER 2.0




B FIIRIE : 2025/04/18

ASPO146 A ST IS G N
AR VAL ¢
HBP-103ST 543-025-h1" = « FARIER-1/1 ik ;2.2
e | s — R SRR/ E Ofth il RE | RN [ %)
c-1 300088210 PN — AHi/j=1— FASSY 1
-2 | 764042030 |Av—FKFv b PA 373 5
C-3 400670910 (N TV Fxzv AV —X 1
C-4 | 300088110 [# 7 /~— AASSY 1
C-5 450060880 (A1 v F BRI S—1F 1
C-6 | 712042320 [+5-/X2 v B R F N M3*15 4 20. 09 11
C-6 | 712030330 [+FUUFZ > B R (V) M3x16 4 20. 095 i
c-7 | 510009060 |t =—X MF-5 1
C-8 | 450066180 [HiikILHASSY 1
-9 | 689044230 |ON-OFF< —/L 1
C-10 | 711042610 [V ¥ x M6%8 4
C-11 | 100007110 |H/8— (f =w—) 1
C-13 | 450083540 [BhK~7 77— 1
C-14 | 972001040 |0V > 2 S-4 1

C-15 689046360 [f—2 I —/L HBP-103ST 1




©2025/04/18
AL 2.2

FIIRI

\am)
~
—
&
fi
N
AN
%
.
N
T
[ap)
<t
Lo
=
=
®
B
HIK
R
B
il =
P
B S Mo,
w2 <8

543-025

N y7I-BhhIE R

HBP-103ST

R TEB

BHES

g

BI5K
JOvo




B FIURIE : 2025/04/18

ASPO146 A ST IS G N
Ny T U B E R 3
HBP-103ST 543-025-7K > 7 H-1/1 W ;2.2
e | Esha— R AR/ Z ofth il | AR S %)
A-1 450095100 N> 7t b (T-4#L) BP-515 1
A=2 | 400620910 |Ro T H o F YU 1
A-3 | 712042320 [HFUUST X v B RY M3*15 8 20. 09 11
A=3 | 712030330 [H5EUNATZ oy B LR Y (V) M3%16 8 20. 09 fifi
A4 | 450068510 [E—X%E v b (F 74 v M) 1
A-5 | 450071210 |[£E—X 7T/ v htE v b 1
A-6 | 300080610 [E—X 7 T4 v b 1
A-7 | 400661420 [E—X B v Y T 1
A-8 | 704042430 |EEARFFFAUNRY MA*12 2
A-9 400616320 [ i 1
A-10 | 400617410 Mtk B 1
A-11 | 400627010 [|F ¥ 47— % 1
A-12 | 400616220  |REH)H H 1
A-13 | 400616120  |BKE) i H 1
A-14 | 972001220 [0V > 2" S-22.4 1
A-15 | 400617510 [HI#k A 1
A-16 | 972001180 [0V > 2 S-18 1
A-17 | 400616610 |R> 7y v 7 1
A-19 | 450060770 [@h + F¥ » F¥r—2—K 1
A=20 | 450060810 & V7" ~9y T 1 [452011460




B FIRIE : 2025/04/18

ASP0146 1‘% E\L

N7 V) B S T
HBP-103ST 543-025—FF @ fh-1/1 fiEx - 2.0
®
n| Bl
SN
Lk
L ﬁ_: % ~
PaY
B
iy X
(e B N




B FIURIE : 2025/04/18

ASPO146 A ST IS G N
Ny T U B E R
HBP-103ST 543-025—fF @ ih-1/1 W : 2.0
e | A — NS4 R/ T O il RE | AN [ X5y
F-1 | 450067060 [H:HA&—2+ v K 1
F-2 | 800001320 |[E=—/ %y %> 11.0%7.0%1.5 2
F-3 | 800001420 |E=—/ %v ¥ 15.5%11.5%1.5 2
F-4 | 450021490 |LAXA—=y 7 LC—20 1 [450052760
F-6 450001670 kX 2 — X)L 34 7 8-490 G1/4 FALEFy ) 1
F-8 | 450067120 [IEES 2860 CPW-2T-3 G1/4 1 [452002200
F-9 | 450039820 [BREAIME TWHE  G1/4 1
F-10 | 884087930 |7E&E#s 1
F-11 | 510009060 |t =—ZX MF-5 1
F-12 | 300095710 JE#EMF N> R (v M) 7y 7K 1
F-16 | 680003720 [He#iwiBl& HBP-103ST 1




	1
	2
	3
	4
	5
	6
	7
	8
	9

